ZDC

Scan in sPHENIX, 33859

SPHENIX 33859: Hor fit (set)

10*

%2/ ndf
offset (1G)
max (1G)
maxPas (1G)
width (1G)

19.45/ 11

168.4 + 10.12

8415 £ 79.07
0.007679 £ 0.002122
0.2383 £ 0.001888

10°

%= | el 1.801/9
1sthMax (2G) 7506 + 374.2
maxPos (2G) 0.008134 = 0.002112
1stWidth (2G) 0.2183 = 0.006058
2ndidax (2G) 1208 + 388.8
2ndWidth (2G) 0.4104 = 0,03583
olfgel (2G) 0.0001814 = 1117

—— double Gauss fit

— single Gauss fit
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set displacement (mm)

No cooling, no crossing
angle
Cross section sphenix ZDC:
« 1Gauss 6.3 +/- 0.7 barn
« 2 Gauss 6.8 +/- 0.7 barn
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SPHENIX 33859: Hor 1Gauss fit (set)

%2 1 ndf 19.43/ 11
offset 168.5 +10.12
max 8416+ 79
maxPos  0.007678 % 0.002129

width 0.2383 + 0.001889
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0.5 1
set displacement (mm)

SPHENIX 33859: Hor 1Gauss fit (meas)

% / ndf 16/ 11
offset 1653 + 10.2
max 8436 + 79.06
maxPos  0.007414 +0.00214

width 0.2415 £ 0.001898

05 1
meas displacement (mm)
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STAR 33859: Hor 2Gauss fit (set)

in STAR, 33859

STAR 33859: Vert 2Gauss fit (set)

206575

1.264e+04 £ 254.5
-0.005275 £ 0.001897
0.2221 + 0.003454
715.1£264.2

0.5219 + 0.08288
2.319e-05+ 350

33.38/5

1.283e+04 £ 2256
-0.001823 + 0.001732
0.2307 £ 0.00346
5341+ 2356
0.6024 + 01454
3.281e-07 + 703.5

194.2/5

1.41e+04 + 1.414
-0.1092 + 0.0013
0.2035 + 0.001025
1.388e+04 + 1.318e+04
0.0008586 + 0.05081
157141418
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STAR 33859: Hor 2Gauss fit (meas) STAR 33859: Vert 2Gauss fit {meas)
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STAR 33859: Vert 2Gauss fit (meas V301) STAR 33859: Vert 2Gauss fit (meas V301)
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04 0.5
meas V301 displacement (mm)

« No cooling, no crossing angle
« Done before DX BPM reversal
o Cross section STAR ZDC: 10.8 +/- 1 barn
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